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NEW QUESTION 1

An administrator is trying to configure vCenter Single Sign-On from the vSphere Client but does NOT have permission.

Which role is required in order to configure vCenter Single Sign-On? (Choose the best answer.)
A. vCenter Single Sign-On Administrator

B. vCenter Administrator

C. vCenter Server Appliance Root

D. vCenter Power User

Answer: A

NEW QUESTION 2

An administrator is investigating the reason for a powered on virtual machine failing to migrate with the following error log message:
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Which step should the administrator complete to resolve this error? (Choose the best answer.)

A. Configure High Availability on the cluster.

B. Configure vSAN on the cluster.

C. Configure Distributed Resource Scheduler (DRS) on the cluster.
D. Configure Enhanced vMotion Compatibility on the cluster.

Answer: D

NEW QUESTION 3

Which vSphere feature provides for continuous local data center availability? (Choose the best answer.)
A. vSphere Fault Tolerance

B. Cross vCenter Migration

C. vSphere Storage vMotion

D. vSphere Replication

Answer: A

NEW QUESTION 4
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Which type of network adapter is designed to provide connectivity to hosts and handle the standard system traffic of vSphere vMotion? (Choose the best answer.)

A. VMkernel port

B. VXLAN virtual tunnel end point (VXLAN VTEP)
C. Virtual machine network interface card (VMNIC)
D. VM network

Answer: A

NEW QUESTION 5

An IT department is experiencing random hardware failures that are costing the company money. The CIO is looking for technical support beyond traditional

break/fix with enhanced visibility and proactive insights into the environment at no additional cost.
Which VMware service meets the needs of the CIO? (Choose the best answer.)

A. VMware Global Support Services
B. VMware Premier Support

C. VMware Skyline

D. vRealize Operations Manager

Answer: C

NEW QUESTION 6
Which two components are core to vSphere? (Choose two.)

A. ESXi

B. vSAN

C. vCenter Server

D. vRealize Network Insight

E. vRealize Operations Manager

Answer: AC
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NEW QUESTION 7
An administrator is unable to manage certificates with the vSphere Client.
What is another supported option that can be used to manage certificates? (Choose the best answer.)

A. vCenter Server Management Interface
B. Command Line Interface

C. vRealize Operations Manager

D. Cloud Builder

Answer: B

NEW QUESTION 8
What are two pre-requisites for enabling ESXi secure boot? (Choose two.)

A. External Key Management Service

B. vCenter Server 7.0 or greater

C. Trusted Platform Module version 2.0

D. ESXi 7.0 or greater

E. Unified Extensible Firmware Interface (UEFI)

Answer: AE

Explanation:
https://blogs.vmware.com/vsphere/2017/05/secure-boot-esxi-6-5-hypervisor-assurance.html

NEW QUESTION 9
What is a pre-requisite for increasing datastore capacity? (Choose the best answer.)

A. The backing device for the datastore has enough free space.
B. The datastore is managed by Storage DRS (SDRS).

C. The datastore is 100% full.

D. There are NO powered-on virtual machines on the datastore.

Answer: A

NEW QUESTION 10
Refer to the exhibit.

Alarm Rule1
IF
VM CPU Ready Time IS below 1000=== ms for 15 min
THEN
Tngger the alarm and Show as Cntical
Send email notifications »

An administrator is consistently receiving an alarm regarding a CPU performance issue; however, there is NO CPU issue identified.
What can the administrator do to make sure the alarm is triggered when there is an actual CPU performance issue? (Choose the best answer.)

A. Change ‘VM CPU Ready Time’ to ‘'VM Memory Usage.’
B. Change ‘Show as Critical’ to ‘Show as Warning.’

C. Change ‘VM CPU Ready Time' to ‘VM CPU Usage.’

D. Change ‘is below’ to ‘is above.’

Answer: D
Explanation:

https://www.actualtechmedia.com/wp-content/uploads/2013/11/demystifying-cpu-ready.pdf

NEW QUESTION 10

An administrator would like to make virtual machine templates and 1SO images available to all vCenter Server instances in the data center.
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Which feature should the administrator use to achieve this goal? (Choose the best answer.)

A. Host profiles

B. Content libraries
C. Storage policies
D. Resource pools

Answer: B

NEW QUESTION 14

An administrator runs third-party software in a virtual machine (VM). The third-party licensing agreement requires payment of a license fee for each host to which
the VM migrates.

How can the administrator configure Distributed Resource Scheduler (DRS) to minimize licensing costs? (Choose the best answer.)

A. Create a ‘Virtual Machines to Virtual Machines’ dependency rule.
B. Create a ‘Virtual Machines to Virtual Machines’ affinity rule.

C. Create a ‘Should run Virtual Machines to Hosts’ anti-affinity rule.
D. Create a ‘Must run Virtual Machines to Hosts’ affinity rule.

Answer: D

NEW QUESTION 18
Which virtual disk option allows a virtual machine to consume the minimum storage capacity? (Choose the best answer.)

A. Independent persistent

B. Lazy-zeroed thick-provisioned
C. Eager-zeroed thick-provisioned
D. Thin-provisioned

Answer: D

Explanation:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.storage.doc/GUID-8204A8D7-25B6-4

NEW QUESTION 22
Which action is supported over a VMkernel vMotion TCP/IP stack? (Choose the best answer.)

A. Hot migrations

B. Fault tolerance protection
C. Virtual machine cloning
D. Snapshot creation

Answer: B
NEW QUESTION 26

vCenter High Availability (HA) protects vCenter Server against host and hardware failures.
What is the minimum number of ESXi hosts required to enable this capability? (Choose the best answer.)
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Answer: D

NEW QUESTION 30
Which two configuration tasks must be performed from the vCenter Server Management Interface? (Choose two.)

A. Add administrator accounts.

B. Add an Network Time Protocol (NTP) server.
C. Add a vCenter Server license.

D. Enable SSH login.

E. Change the logging level.

Answer: BC

NEW QUESTION 33
Which resource pool setting is used to specify the relative priority or importance as high, normal or low? (Choose the best answer.)

A. Limits

B. Reservation type
C. Shares

D. Reservations

Answer: C
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NEW QUESTION 36
Which tool is used to monitor the free space in the vCenter Server database? (Choose the best answer.)

A. esxtop
B. df

C. vimtop
D. vmstat

Answer: B

NEW QUESTION 41
An administrator is troubleshooting a recent failure and finds the followin
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Which action has failed, thus resulting in these errors? (Choose the best answer.)

A. Virtual machine power off
B. Virtual machine snapshot
C. Virtual machine migration
D. Virtual machine reconfiguration

Answer: B

NEW QUESTION 42

Which tool is used to monitor the vCenter Server Appliance resources? (Choose the best answer.)
A. vimtop

B. esxtop

C. esxcli

D. vmstat

Answer: A

NEW QUESTION 43

An administrator receives an escalation to investigate a low disk space alarm on a datastore. The administrator discovers that a snapshot has been accidentally
taken on a production, write-intensive database server. The snapshot has grown to nearly 1 TB in size in less than an hour and continues growing every second.

Which behavior should the administrator expect while deleting the snapshot? (Choose the best answer.)

A. ESXi will create a virtual RAM disk to cache ongoing database write activity; performance impact will be limited.

B. ESXi will commit the snapshot delta disk into the base disk; ongoing database write activity could result in long stun times.
C. ESXi will merge the snapshot delta disk into the base disk; the virtual machine will be briefly stunned.

D. ESXi will instantly switch from the base disk to the snapshot delta disk with no performance impact.

Answer: B
Explanation:

https://kb.vmware.com/s/article/1002836

NEW QUESTION 44
Refer to the exhibit.

1 sa-vesa-01 velass local @ 1 Admins: Administrator role
L3 SA-Datacenter
£ SA-Compute-014 1 SystemAccounts: Read-Only role

[1sa-esxi-04 vclass local
[ sa-esu-05 velass local
[ sa-esxi-06.velass local

=

| Members of Admins group:

& Finance01 4= s test1: No Access test1
&t Finance02 test2
5 Finance03
Members of SystemAccounts
test1
test3

What is the effective role the testl account has on the FinanceO1 virtual machine? (Choose the best answer.)
A. No access

B. Administrator

C. Read-only

D. Virtual machine user

Answer: A

Explanation:
https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.security.doc/GUID-72EE3449-79FD-4
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NEW QUESTION 45
An administrator is tasked with upgrading an existing vSphere environment to version 7.0. There are existing VMFS3 and VMFS5 datastores in the environment.
Which statement is true regarding this upgrade? (Choose the best answer.)

A. An ESXi 7.0 host will NOT recognize a VMFS3 datastore.

B. VMFS3 is supported with ESXi 7.0 to store boot configurations only.

C. A VMFS5 datastore CANNOT be upgraded; a new VMFS6 datastore is required.
D. An ESXi 7.0 host can automatically upgrade a VMFS5 datastore.

Answer: C

NEW QUESTION 49
An administrator can attach a baseline to which two inventory objects? (Choose two.)

A. Resource pools
B. Data centers

C. Datastores

D. Templates

E. ESXi hosts

Answer: DE

Explanation:
https://docs.vmware.com/en/VMware-vSphere/6.0/com.vmware.vsphere.upgrade.doc/GUID-5EA28531-0813-4

NEW QUESTION 50
A company has a vSphere environment consisting of the following characteristics:

> A content library named ‘CORP’ is published at corporate headquarters on a vCenter Server named ‘vcenterCorp’.
> A regional data center contains a set of hosts managed by a vCenter Server named vcenterR1.

> vcenterR1 subscribes to the CORP content library.
The administrator wants to create a new virtual machine image to use on vcenterR1. What are two possible ways the administrator can accomplish this task?
(Choose two.)

A. Configure vcenterR1 to download all library content immediately.
B. Upload the new image to the CORP library on vcenterR1.

C. Publish the CORP content library on vcenterR1.

D. Upload the new image to the CORP library on vcenterCorp.

E. Upload the new image to a local content library on vcenterR1.

Answer: AD

Explanation:
https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.vm_admin.doc/GUID-254B2CES8-20A

NEW QUESTION 51
Which privilege is required to run the esxtop utility? (Choose the best answer.)

A. Root user

B. vStatsUser
C. vStatsAdmin
D. Administrator

Answer: A

NEW QUESTION 55
An administrator wants to configure vCenter Server High Availability so that each node is located in a different data center.
Which requirement must be met? (Choose the best answer.)

A. Each node must be configured with at least three network adapters.

B. Network latency between the nodes must be less than 10 milliseconds.
C. All nodes must be located on a vSAN datastore in each data center.

D. A vCenter Server license must be assigned to each node.

Answer: B

Explanation:

https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.avail.doc/GUID-8FD87389-8CC9-429

NEW QUESTION 60

What determines the default bandwidth share allocation for system traffic, such as vSphere Fault Tolerance and vSphere vMotion? (Choose the best answer.)
A. Physical network adapter

B. Network 1/0O Control version

C. Virtual machine hardware version
D. Load-balancing
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Answer: B

NEW QUESTION 63
An administrator sees a virtual machine message that reads, “Consolidation is required” in the vSphere Client. Which action does ESXi take when the
administrator completes snapshot consolidation? (Choose the best answer.)

A. Collapses all snapshots in the current snapshot tree

B. Commits redundant delta disks to the base disk

C. Collapses all snapshots into a single snapshot

D. Deletes all snapshots without committing to the base disk

Answer: D

NEW QUESTION 65
Which two storage technologies can an administrator use to deploy the Virtual Machine File System (VMFS)? (Choose two.)

A. Fibre Channel storage
B. vSAN storage

C. Virtual Volumes storage
D. NFS storage

E. iSCSI storage

Answer: AE

NEW QUESTION 69
Each logical port on a vSphere standard switch can be a member of how many port groups? (Choose the best answer.)

ooy
N EF, WD

Answer: C

NEW QUESTION 73
A host profile is updated with a new password that urgently needs to be changed on all hosts attached to the host profile.
Which option would an administrator select to complete the password change? (Choose the best answer.)

A. Copy Settings from Host

B. Remediate

C. Check Host Profile Compliance
D. Edit Host Customizations

Answer: B

NEW QUESTION 74

A vSphere environment is configured with 1 Gigabit Ethernet for vSphere vMotion. The application team is complaining that when they try to migrate a powered-on
virtual machine, the progress is slow and unsuccessful the majority of the time.

Which two recommendations should the administrator make to improve vSphere vMotion performance? (Choose two.)

A. Use at least two port groups.

B. Use vSphere Storage 1/0 Control (SIOC).

C. Use 10 Gigabit Ethernet or above.

D. Use Link Aggregation Control Protocol (LACP) on the port group.
E. Disable vSphere Fault Tolerance.

Answer: CD

Explanation:
https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.vm_admin.doc/GUID-254B2CES8-20A

NEW QUESTION 78
What is the basic packaging for vSphere Installation Bundles (VIBs) and metadata in vSphere Lifecycle Manager? (Choose the best answer.)

A. Vendor add-on
B. Base image
C. Component

D. Baseline

Answer: C
NEW QUESTION 82
There are two vSphere clusters in a company environment. One cluster is hosting development workloads and another is hosting production workloads. Both

vSphere clusters are managed by the same vCenter Server.
The application team would like to move a new virtual machine from the development to production cluster
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with no downtime.
Which feature would allow non-disruptive movement between these two clusters? (Choose the best answer.)

A. Cross vCenter Migration
B. vSphere High Availability
C. vSphere vMotion

D. vSphere Replication

Answer: C

NEW QUESTION 85
In a vSphere High Availability (vSphere HA) cluster, which condition can be detected by datastore heartbeating? (Choose the best answer.)

A. Fault tolerance virtual machine (VM) failover
B. Network isolation

C. Virtual machine (VM) disk failure

D. Datastore All Paths Down (APD) event

Answer: B

NEW QUESTION 90
What is the server virtualization product that combines the ESXi hypervisor and the vCenter Server? (Choose the best answer.)

A. NSX

B. vRealize Operations Manager
C. vSphere

D. vSAN

Answer: C

NEW QUESTION 94
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